9 by 9 Killer Sudoku

Fill in the numbers 1 to 9 in such that each number only appears once in each row, column and
dotted sub-region (cage). The sum of the numbers in a cage must equal the printed clue numbers
of a cage.
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Answers

Fill in the numbers 1 to 9 in such that each number only appears once in each row, column and
dotted sub-region (cage). The sum of the numbers in a cage must equal the printed clue numbers
of a cage.

713141698152
1189|5724 /36
6 | 2|51 431987
916 (3148|5172 |1
5111713126849
814 2191|7365
3198126 |1]|5]|7 4
4 1516|713 912]|1 |8
217111851416 9|3
511 1486|9372
816 |3 (7|1 ]25]4]9
217191513 48|61
9O 18 1714|5623
4 151116231987
312619 8|71 5|4
719 1812511436
1 14 /5137|6298
6 |3 1214 /9|8|7|1]5
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